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MEC-002 : MACROECONOMIC ANALYSIS

Time : 3 hours Maximum Marks : 100

Note: Answer questions from both the sections as per
instructions.

SECTION A

Answer any two questions from this section in about
500 words each. 2x20=40

1. The trade-off  between inflation and
unemployment occurs in the short-run only. Do
you agree with the above statement ? Support
your answer with appropriate explanation and
diagram.

2. In an open economy with flexible exchange rate,
bring out the effectiveness of fiscal and monetary
policy on aggregate output.
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3. State the main criticisms labelled against
Keynesian model by Lucas. What has been the
impact of Lucas’ critique on developments in
macroeconomic theory ?

4. Highlight the importance of rigidities in an
economy. What are the reasons for rigidities in
wage rate ?
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SECTION B

Answer any five questions from this section in about

250 words each. 5x12=60

5. Bring out the salient features of the Solow model.
What is the impact of technical progress on the

steady state ?

6. Write a brief note on the real business cycle

theory.

7. Explain how the economy moves towards

equilibrium output and interest rate in the
IS-LM model.

8. Explain the rationale behind convergence in
growth rates across countries. Contrast between
absolute convergence and conditional

convergence.

9. Discuss the major insights of the life-cycle
hypothesis.

10. Bring out the salient features of search theory of

unemployment.

11. Give a critical assessment of policy rules in an
economy.
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12. Write short notes on the following :

(a) Liquidity Trap

(b) Insider-Outsider Model
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3. THM (Lucas) NI 3l 7§ hrellod HisA i &I
ATATEHTST hl FdTEY | THE 74N & g &
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(convergence) % W& T T 3 ? AHHATET I‘{Uf
AT TF T W o = A H
EGIE

9. Sitad-9sh URehedHT (life-cycle hypothesis) qed
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12. frfofiaa w wfem fefor fofay
(%) WA 9T (Liquidity Trap)

(@) 3=ie-aTe Aied (Insider-Outsider Model)
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